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XEA 50 | 50 [ 100| |EE& 19 | 21 | 40 BT 1 4 5 HmKeE 1 1
REEE 23 | 39 | 62 B 17 | 11 | 28 EJE=Pr 2 1 3 BEAXER 1 1
TEE ik 5 | 15 | 20 EIETE 10| 9 | 19 HEA 2 1 3 EXEZE 1 1
FRIK 8 9 | 17 S 445 6 | 10 | 16 = 1 2 3 BR& 1 1
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EiEE 1 3 4 SRR 7 5 | 12 Bi% 1 2 3 EEE 1 1
i T 5 2 1 3 BT 1 8 9 fa K 2 2 mE 1 1
L£RE 2 2 Xk 5 3 8 XEEE 1 1 2 HMEA 1 1
RS 1 1 EEH 4 3 7 ®rE 2 2 #EHA 1 1
FER 1 1 E= i3 3| 4| 7 BARE2 2 B2E 1 1
BARRK 1 1 2 =P 1 6 7 B8R 1 1 BEEX 1 1
BEA777 1 1 FE75 5 1 6 EEE 1 1 XEBEE 1 1
EEXXK 1 1 XEEE 4 2 6 EdfE=R) 1 1
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INET 98 | 90 | 188 | |FE75 4 | 4 FEN 1 1 S 99 | 147 | 246
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